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Past Paper Questions
Arranged by Topic

Materials required for examination  Items included with question papers
Ruler graduated in centimetres and Nil

millimetres, prefractor, compasses,

pen, HB pencil, eraser, calculator.

Tracing paper may be used.

Instructions to Candidates

In the boxes above, write your centre number, candidate number, your surname, initials and signature.
Check that you have the correct question paper.

Answer ALL the questions, Write your answers in the spaces provzded in this question paper.

You must NOT write on the formulae page.

Anything you write on the formulae page will gain NO credit.

If you need more space to complete your answer to any question, use additional answer sheets.

Information for Candidates

The marks for individual questions and the parts of questions are shown in round brackets: e.g. (2).
There are 26 questions in this question paper. The total mark for this paper is 100.

There are 24 pages in this question paper. Any blank pages are indicated.

Calculztors may be used.

If your calculator does not have a « button, take the value of n to be 3.142 unless the question instructs
otherwise.

Advice to Candidates

Show all stages in any calculations.

Work steadily through the paper. Do not spend too long on one question,
If you cannot answer a question, leave it and attempt the next one.
Return at the end to those you have left out.,

Turn over
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Leave E
blank
1.
v=,]2
b
a = 6.43 correct to 2 decimal places.
b= 5514 correct to 3 decimal places.
By considering bounds, work out the value of v to a suitable degree of accuracy.
You must show all your working and give a reason for your final answer.
§ | L 435
Laveye >t 645>
55135
~ [-OBROIAGHLH
G425
Swaallese 7 SIDIED)
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VE oo Q1
(Total 5 marks) T
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2. A ball is thrown vertically upwards with a speed ¥ metres per second.
The height, A/ metres, to which it rises is given by
2
H=L
2g
where gm/s? is the acceleration due to gravity.
V=244 correct to 3 significant figures.
g = 9.8 correct to 2 significant figures,
(ii) Calculate the upper bound of H.
Give your answer correct to 3 significant figures.
g
P .
(24-45 D
e
2 > a-1S
206571
..................................... Q2
(Total 3 marks) l
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3. Afield is in the shape of a rectangle. :
The width of the field is 28 metres, measured to the nearest metre,
(a) Work out the upper bound of the width of the field.
%S ........... metres
(1)
The length of the field is 145 metres, measured to the nearest 5 metres,
(b} Work out the upper bound for the perimeter of the field.
2w (265 1415 ) -
e metres
3 Q3
(Total 4 marks)

|
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4. Katy drove for 238 miles, correct to the nearest mile.
She used 27.3 litres of petrol, to the nearest tenith of a litre.
Petrol consumption = Number of miles travelled
P Number of litres of petrol used
Work out the upper bound for the petrol consumption for Katy’s journey.
Give your answer correct to 2 decimal places.
271 A
...................................... miles per litre 94%
(Total 3 marks) | . |
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5.

(a) A solid cube has sides of length 5cm.

Diagram NOT
accurately drawn

Sem

Scm Scm

Work out the total surface area of the cube.
State the units of your answer.

The volume of the cube is 125cm?,

(b) Change 125 cm® into mm?®,

(1S i@ =10 <

The weight of the cube is 87 grams, correct to the nearest gram.,

{c) (i) What is the minimum the weight could be?

(i) What is the maximum the weight could be?

{Total 8 marks)

Leave
blank

Q5

_
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6. The length of a line is 63 centimetres, correct to the nearest centimetre.
(a) Write down the least possible length of the line. g
.................... . Centimetres
(1)
(b) Write down the greatest possible length of the line. S
5 >
...................... T CEOtIMEtIES
(1 Q6
(Total Z marks) 1

_—
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. The voltage ¥ of an electronic circuit is given by the formula

V=IR
where [ is the current in amps
and R is the resistance in ohms.
Given that V=218 correct to 3 significant figures,

R=12.6 correct to 3 significant figures,

calculate the lower bound of I.

(Total 3 marks)

Leave
blank
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